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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

Even when you win a match you always feel you___ have played better.
* must not
® can
* could
e ought to
Correct Answer :-could
2)
Question Stimulus :-

Fill in the blank with the correct option.

You _____ give the bank a written notification if you wish to close your account.
* must
® can
* may
* might
Correct Answer :-must
3)
Question Stimulus :-

Fill in the blank with the correct option.

The President come to visit our offices tomorrow if the meeting finishes before
5 pm.



®* must

®* need

* should

* may
Correct Answer :-may
4)
Question Stimulus :-

Fill in the blank with the correct preposition.
The concert had to be called____ due to bad weather.
®* on
e at
e for
e off
Correct Answer :-off
5)
Question Stimulus :-
Fill in the blank with the correct preposition.

You will be brought ___the disciplinary panel to account for your behaviour.
* besides
® before
® between
® in
Correct Answer :-before
6)

Question Stimulus :-

Fill in the blank with the correct prepositions.



The ship reached the harbor______ the 10th_____ June,1998.
e at, in
® in, of
® on, of
e from, of
Correct Answer :-on, of
7)
Question Stimulus :-

Fill in the blank with the correct preposition.

The little girl has beeniill two days.
e from
® since
e for
e by
Correct Answer :-for
8)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* We left
¢ in such hurry that
* we forgot our tickets.
®* No Error
Correct Answer :-in such hurry that

9)

Question Stimulus :-



DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you had waiting for the bus,

e you should better

* take a taxi.

® No Error
Correct Answer :-If you had waiting for the bus,
10)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* I will help him

e provided he

e will mend his ways

®* No Error.
Correct Answer :-will mend his ways
11)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Unless he will not take care
e of his health,
e he will not recover.

® No Error

Correct Answer :-Unless he will not take care



12)
Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If I had a million dollars,
e I would
®* buy a big house.
® No Error
Correct Answer :-No Error
13)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* A bad tree

* does not yields

e good apples.

®* No Error
Correct Answer :-does not yields
14)

Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ All good things
e comes to those
e who wait for them.

®* No Error



Correct Answer :-comes to those

15)
Question Stimulus :-

DIRECTION: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Copernicus have concluded

e that the Earth goes

* round the Sun.

®* No Error
Correct Answer :-Copernicus have concluded
16)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
e The higher you go, the colder it is.
e Higher you go, colder it is.
* The higher you go, colder it is.
e Higher you go, the colder it is.
Correct Answer :-The higher you go, the colder it is.
17)
Question Stimulus :-

Fill in the blank with the correct option.

He always carries dollars for emergencies.

e few

e afew

¢ the few

e a little



Correct Answer :-a few

18)
Question Stimulus :-
Fill in the blank with the correct option.

Unfortunately, I had time to enjoy New York because I had to work so much.
o little
* a little
® the little
* few
Correct Answer :-little
19)
Question Stimulus :-

Fill in the blank with the correct option.

She has friends who can help her in the time of difficulty.
* afew
® the few
o little
* a little
Correct Answer :-a few
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said, “"Will you listen to such a man?”
* He asked them whether they will listen to such a man.

e He asked them whether they could listen to such a man.



* He asked them whether they can listen to such a man.

¢ He asked them whether they would listen to such a man.
Correct Answer :-He asked them whether they would listen to such a man.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said to him, “"Please wait here till I return.”

e He requested him to wait here till he returns.

¢ He requested him to wait there till he returns.

* He requested him to wait there till he is returning.

* He requested him to wait there till he returned.
Correct Answer :-He requested him to wait there till he returned.
22)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the student, "Why were you absent yesterday.”
® The teacher asked the student why he had been absent the previous day.
e The teacher asked the student why he was absent the previous day.
®* The teacher asked the student why he has been absent the previous day.
e The teacher asked the student why he had been absent yesterday.

Correct Answer :-The teacher asked the student why he had been absent the
previous day.

23)
Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.



Does she do her duty?

e Are duties done by her?

e Is her duty done by her?

e Has her duty been done by her?

e Have her duties being done by her?
Correct Answer :-Is her duty done by her?
24)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Who does not obey you?

®* You are not obeyed by who?

* You are not obeyed by whom?

e By who are you not obeyed ?

e By whom are you not obeyed?
Correct Answer :-By whom are you not obeyed?
25)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

The firewood is being cut by the Labourers.
®* The Labourers is cutting the firewood.
e The Labourers are cutting the firewood.
®* The Labourers have been cutting the firewood.

e The Labourers have cut the firewood.

Correct Answer :-The Labourers are cutting the firewood.

26)



Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be

gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

What does the phrase ‘drill into' mean?
®* To penetrate some surface by boring.
®* To destroy something by blasting it.
* To break it into infinite pieces.
®* None of the above.
Correct Answer :-To penetrate some surface by boring.
27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.



The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’'s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

Why does the writer say ‘Infections in the roots of teeth are hell to treat’?
e Because the treatment is very costly and available only outside India.
®* Because the treatment can be done anywhere and everywhere.
®* Because the treatment is very prolonged and painstaking.

* None of the above.

Correct Answer :-Because the treatment is very prolonged and painstaking.

28)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chungqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.



Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’'s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

How can the biofilms be destroyed?
e By the use of dental plasma torch
* By giving regular antibiotics
e By drilling and blasting alternately

® None of the above

Correct Answer :-By the use of dental plasma torch

29)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be



gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

What is the first step of the treatment of tooth infection?
* Drilling into the root of the tooth
® Cleansing or removing of infected material
¢ Filling of tooth cavities
* None of the above

Correct Answer :-Drilling into the root of the tooth

30)
Question Stimulus :-
DIRECTIONS: Read the following passage carefully and answer the following questions.

Infections in the roots of teeth are hell to treat. The tooth needs to be drilled into, right
down to the bottom of the nerve-carrying canal that runs through the root. The
infected material must then be cleaned out completely and the drilled section filled in.
Although, the procedure is routine, it is common for some of the bacteria to survive it
and therefore for infections to re-emerge shortly after treatment.

The surviving bacteria are often gathered in the form of what is known as a biofilm.
Bacteria in such a film are embedded in a polymer matrix, which makes them harder to
kill than isolated individuals. High temperatures can destroy biofilms, as can some
chemicals, but neither approach is safe to use inside the delicate interior of a human
tooth. However, Chunqgi Jiang, a physicist at the University of Southern California, Los
Angeles, and her colleagues have come up with a possible alternative: a dental plasma
torch.

Plasmas are gases in which the molecules have been stripped of some or all of their
electrons, to create positive ions. One way to do this is to heat the gas up.
Conventional plasma torches employ such hot plasma to cut metal. But cold plasmas
can be made using high electrical voltages.

Bacteria in biofilms are also more resistant to antibiotics than their isolated confreres,
so the new device could have other medical applications. Wound infections, for
example, often form biofilms. If they cannot be treated successfully, the result may be
gangrene. And if Dr. Jiang’s version of St. EImo’s fire can deal with that problem, the
saint may become patron of a lot more people than just sailors.

What is ‘gangrene’'?

e An uprooted teeth



® A serious and potentially life-threatening condition
e A wounded lower jaw

® None of the above

Correct Answer :-A serious and potentially life-threatening condition

Topic:- Hindi
1)

Question Stimulus :-
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2)

Question Stimulus :-
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3)

Question Stimulus :-
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4)

Question Stimulus :-
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5)

Question Stimulus :-
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Question Stimulus :-
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Question Stimulus :-
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"I YIS BN, %ag O g¥RY R fagri|

* HRSI

o

o waar

o T 9§ TS T
Correct Answer :-3I# ¥ &g T8l
22)
Question Stimulus :-

CANCELLED
UTHAT UF Ud PR Tveeeeciiieeennns FI Joft # ama



* T I PIS T8
Correct Answer :-uiRe U

23)

Question Stimulus :-

¥ @ g o &1 99 Fe-
o R
e Ry
o <af
* qHum
Correct Answer :-uyun

24)

Question Stimulus :-
T d @ SRs ad-t &1 9u Bifo-
® TP
. IR
e B
* JUH®
Correct Answer :-HTsY

25)

Question Stimulus :-

AR HTHT BT B B-
o faEga
o 3paeA
* P¥UUQ

* YIS



Correct Answer :-fa=gd

26)
Question Stimulus :-

TEX HTNT HT &I 9 -

Correct Answer -3t

27)

Question Stimulus :-
fa & | aeit &1 wafaarh T8 §-
* TTM
o qfiroft
o RfOr
. fgiion
Correct Answer :-a=for

28)

Question Stimulus :-
‘gAY e # | feaer yafgard -
* a4
* TS
o firar
* gfear
Correct Answer :-gfedr

29)



Question Stimulus :-
"’ FT TAH T 2-

* I

Correct Answer -3

30)

Question Stimulus :
WY’ T T5d A 8-

o g

* 3

* §sI

* W3
Correct Answer :-3i3
31)
Question Stimulus :-
eie &1 4 fide 8-

® T+ 3

® TI+3[d

* TH+3EA

° TI+Id
Correct Answer :-T@+3[d
32)

Question Stimulus :-



Ha' # gge Ay S-H 32
o U R
o d wfY
o JuT Yy
o o R
Correct Answer :-3fg df¥

33)

Question Stimulus :-

W & fras ¥g 9 &2
o d
o @
* IR
* U™
Correct Answer :-di4

34)
Question Stimulus :-
o fafea 6 ariz & @ yyw g sifaw Ff¥a 3 A #1 S ww § ey S
(1) TARY Rram &1
() ¥ 9IfeT 1 &
(}) ¥ 7@ q& qUT 3T IR &I
() 3T IRR P 3BT awAyT
() 9 e g
(6) ¥9aE 9 TG I TP |
e gYTT

e qUgdXN

® gdgvNd



e ¥IYATd
Correct Answer :-9gdv

35)

Question Stimulus :-

A arri & 3fua v | sgafRua Fif-
() 918 & ST A T S HHS

(}) WRHATHT & frg fwy &R ARTI0

(@) MRF o1a A IRFUT SRt &

(@) 4 +ft wgE gar o1 A

e §IAY
e IATY
e gAIY
e gAXT
Correct Answer -39 Y

36)

Question Stimulus :-

AR XA A fFaq PRI o1 v foban 82
o d
e IR
. T
* 33
Correct Answer :-9R
37)
Question Stimulus :-
RIYT $T 9 9%’ UfR # Srdar 8-

® JUHT



* TP
* FTUD
* IHSD
Correct Answer :-FU&

38)

Question Stimulus :-
9 ¥ ¥ 3 arg sifet-
o g AR, § g% g9 W
o gHW i g, & smust g 9T g
o ¥ gW &d §I
o gHM AR
Correct Answer :-ga ¥ firz g, & g @ 9 a1 §1
39)
Question Stimulus :-
& § ey a1 oifee-
* T St ver I ¢
o WU it QI 3@ T
e 3eATfieT Sit Uar wE Bl
o JHUS St UgTd 3
Correct Answer :-3[10s St Uer 38 2l

40)

Question Stimulus :-
o dfdal &1 e Sifm-

TR 1 PIs fY gt 3meH - smelt A S v 78 Rymmari gt u a8t ®ead & - It wrea guE €1 s Y
muﬁ%’ﬁaqmﬁmwﬁ@mamﬁm?lmwﬁwﬁéwmﬁwmm

P! IY W JHFA A &1 3% 9 § T THH 811 &1 3 fF 396 ud a1 9
aﬁﬁﬁﬁmwmﬁagﬁms‘rﬁmﬁ%mwﬁmem‘%lHﬁﬂﬁ@gﬂ%ﬁmﬁﬁwm
39 CHIIEC BT ATH T - o w@rdf Aan



o Togd T Raarar s # &R @A
o IRPR R Bd
o IR
Correct Answer :-Hugd 7! R@mar s § 9% 7@

41)

Question Stimulus :-
30 I oH-u1 fdwe arat i fased I O @vg o 82

o TER
o wEHR
o QAT
o Tdd
Correct Answer :-HgdR

42)
Question Stimulus :-
CANCELLED
¥ ¥ IR T B ST R &-
* P
* TP
* TH
* o
Correct Answer :-oRd
43)

Question Stimulus :-

Fafa ¥ fie R e @m-
o Ig=Rd



o Ig3wid
o 3TN
o T IS Tl
Correct Answer :-3JaRd

44)

Question Stimulus :-
FfEa” @1 e T & 78 8-
. PRw
. R
o i
* YRER
Correct Answer :-gfed

45)

Question Stimulus :-

el ared 1 i S w0 @ @ fIR & IR teew ge Y, g@i fhw farmfRis @1 waT g 8-
* TP
o IZU
* JeufaR™
o quf fiRm
Correct Answer :-quf farm

46)

Question Stimulus :-
1T weTeTer & IR B 82

o g dgaur™
o ugY dgaa



o gadleN
o grEife
Correct Answer :-ugff dgam

47)

Question Stimulus :-
‘WiRRITaRiY’ fraet T 82

o paafd Ay

e firErie™

o PHIECH

o FUIRETH
Correct Answer :-EUiart

48)

Question Stimulus :-

vshifad g fira e fea, afe-wf@ for Au - d9fd & vgea < -
o Az
* HEU
* o
* YIH®H
Correct Answer :-%%=0

49)

Question Stimulus :-

rfta & gafs e ey & Feyer A d 3 o9 32
o Hgredl guf
o gRmFET Ud
o Jdwia Purdt fFrrar



* SURIHR UG
Correct Answer :-Agiedt qaf

50)

Question Stimulus :-

“JI5d Bt Hg 7 AD THIP! b A@P T A § P 22
o faw gHTHR
o IJUTATY "D’
* HRIAI TG T
o I IWFHR qaf
Correct Answer :-Sf. JHHAR a4}

51)

Question Stimulus :-
g # 3 f5g weY I Haifye IHER U3 USRI 8id 82

. %in
e HuTe
o dar
o IR
Correct Answer :-Hurd

52)

Question Stimulus :-
4 ugeht &1 TPt IR -
“UEd gdl 71 W 4, 99 9eslt AR 3 § v ara vufan, o) T 98 AR

® JTHhIR

TPl Hedl

Uhl el

gt



Correct Answer :-Ud! Aot

53)

Question Stimulus :-
e ugelt &1 9 W gT-
I FAd! 9, gy usdt 91"

o M
* HRAH
* TIDI
* HYMI
Correct Answer :-da®t

54)
Question Stimulus :-
‘TEAIR’ BT Y g+ fazewor gm-
* §+A+T+T+I+S+E+3
* §+H+FT+3+T+I+5+T+3
* §+A+E+3+T+J+3+8+3
® T+ H+F+F+T+J+T+T+3
Correct Answer :-§ + ¥+ T+ S+ q+ 7+ 5§+ T+3

55)
Question Stimulus :-

g4d gad odei- a9 @l oraT §, od-
o T | 31 P AT T B
o W H ‘3 Pt AT HI gIdll
* god o el HEpd HINT BT 21

o Faod gad el A d &9 § gl gl



Correct Answer -3 # 31 &I 731 8! gl

56)
Question Stimulus :-
“3TUTd-3ATUTE” G &1 Fal 3 gim-
* IH AP TT-AMFRIS B
o WP FP-IR 0%
o TSP Te-URI 9B
o AP
Correct Answer :-3T& & ge1-031 a&

57)

Question Stimulus :-
g & A 915 e g FHia T8 ], T Fifve-
* JTPHR-IATHR
* 3T-A
*  IHFI-IHH
o T3
Correct Answer :-3{Tg-3Mawd

58)
Question Stimulus :-
o 3 Rz g & I 2reg HT T Fifoe-
o WBERAT
o ¥qaaAdl
o SreAfTyRar
e dRar
Correct Answer -

59)



Question Stimulus :-
fufefad o § ¥ Waifed s & JaFf weg &1 999 Fifere-
“gg WIE AT {5 a9 $9 999 § 59 yoR wden &1 aarnt s~

Correct Answer :-fifaa

60)

Question Stimulus :-

e & & g5 T BT e T8 8-
o darsR
* TS -IATUST
o FUYl-dT

Correct Answer :-diarsR

61)

Question Stimulus :-

Prifed § & S9-91 ug SrerdiyTa THT 27
o Jffaudur

Correct Answer :-feAafea

62)



Question Stimulus :-

“SromuTior <Teg fohE THT BT IaTeR 872
* &g UHN
o TUFY AN
o gEAR wwN
o FHHYRT GHH
Correct Answer :-sgsifg ¥9™
63)
Question Stimulus :-
g ol ® o Sgad areg &1 994 Pife-
* WY 3D 7l
o #H @M @I
o ot oD ¢ 3R A 4t o= 7
o T A TS T
Correct Answer :-3 ft 3/ ¢ 3R d ff o= Bl

64)

Question Stimulus :-
fu & & w19 areg -
* FHd o dP Ul Tl
® 3T T MSY
o Wl & §HT TSI T
o T A P TR
Correct Answer :-¥di-t & §4T 8! Srar

65)
Question Stimulus :-

OIfe e 3 & e Suge w 8-



® Accept

® Acceded to

® Acknowledge

o T | BIg TE
Correct Answer :-Acknowledge
66)
Question Stimulus :-

‘Suo motu’ = FT IFAE -

e fIRom
Correct Answer :-TuRomn

67)

Question Stimulus :-
"ge 90 T8 9% R deife o1 @ onf 32
* EaT Yy HIY B A & Fodl
o fiar SIS, g@ | forsh
o IHAM & fQ W & 81 1T
o JIHUM & WM W By 1 o gar @
Correct Answer :-J%IM 8 1 TR H1Y 1 oy gar @

68)

Question Stimulus :-

TR el arer, IS A arer aBifRT &1 T o g2
o MY wfe HH ¢ ST fe@adt 3@ @ oed &



o TReHl T HaTd § SR 2w S8 Wl R ©
e M pAm R TR A TI T ¢
o T A I T
Correct Answer :-TRyH @7 $HT ¢ iR M S &< o ©

69)

Question Stimulus :-
Zoff @) g8 ot a1 & wft ere A Awifaa &1 T onf 32

* BIS QU T E
o @rell A g
* FHIATS! PT HTH BT
* IHR G
Correct Answer :-@Teil 7 g1

70)

Question Stimulus :-
“Ter” 3 fra a1eame & waR! Sia A?

* 9IS
* 3RIME
* MESTEl
* IPHa
Correct Answer -3

Topic:- General Knowledge
1)

Question Stimulus :-

The well-known book “The Rediscovery of India” has been written by— / RIS &P g RfeTwast st

R &t g7 gRT forar ma @:
® Meghnad Desai / T9ATG 3316



® Vikram Seth / CER K]

® Anita Desai / GF-ﬂ?lTaﬂ'l'é'

e Arundhati Roy / 3r&ei 34
Correct Answer :-Meghnad Desai / AYAIE SIS
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below:

T RT T $e & YR TR T IR BT 997 $Y T Aad:

List-I List-II
1. Bihar a. Mumbai
2. West Bengal b. Thiruvananthapuram
3. Kerala c. Kolkata
4. Maharashtra d. Patna
-1 gf-11
1. ﬁ?ﬂ a. 'ﬂﬁi’
2. Ul ST b. faFaaayza
3. A c. PIABTET
4. FERTY d. geT

® 1-c,2-d, 3-b, 4-a

® 1-d,2-c, 3-a, 4-b

* 1-d,2-c, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)
Question Stimulus :-

What is the source of all the energy on Earth? / quﬁ TR JHE Sl $T Eid FT %?

® Wind Energy / dIg St



® Gas energy / T Sl

® Solar Energy / ?ﬁ? et

® Water energy / SI¢l ot
Correct Answer :-Solar Energy / TR Sl
4)
Question Stimulus :-

Electric bulb filament is made of ./ ﬁgﬂﬁ dod Bl ?lﬂ I g1 %

® Aluminium / Wﬁrﬁmw

* Tungsten / CTRCA

® Lead/ Idrar

e Copper / didl
Correct Answer :-Tungsten / CIRC
5)
Question Stimulus :-

The moon is a ./ I5 TP gl

® Satellite/ 3UUT

® Star/ dIRT

® Planet/ g

® Sky/ TP
Correct Answer :-Satellite/ UG
6)

Question Stimulus :-

What is the main cause of movement in the earth’s atmosphere? / qwﬁ & qgHSd T Hga &1 HBT HRUT T

8
® Difference in a air pressure / dIY & 919 | 3R

® Difference in temperature / dTYHIT t: L



® Solar Energy / TR et
* Wind / 19
Correct Answer :-Solar Energy / TR &l

7)
Question Stimulus :-

Which of the following states is NOT on the border of Himachal Pradesh? / ﬁ'ﬁ - | ﬁ aﬁT{ AT IS

fenmaa yd=r ot A =8t 82
¢ Jammu & Kashmir /\_rl'l-'-ll&ﬁ? PR
e Punjab / USTd
e Uttarakhand / 3XIRTEUS
® Rajasthan / ITSTRYTT
Correct Answer :-Rajasthan / TSR
8)

Question Stimulus :-

Sabarimala Ayyappa Swamy Temple is located in which State? / TERIHTAT W Wt Hfex b w=a &
R 32

® Maharashtra/ 'FIB'RTg

e Andhra Pradesh/ 38! 'Q%-'«‘T

e Kerala/ B3

® None of the above/ 's'FIﬁ J Eh;]'s: EH

Correct Answer :-Kerala/ W

9)
Question Stimulus :-

Which of the following States abounds in Black soil? / Frafafes v=ai 4 9 fead et ﬁl?f ot Ul 22

® Andhra Pradesh / GH?N%QT

® Gujarat / JoRId



® Madhya Pradesh / 'FI'HTQ%QT
® All of these / T ot

Correct Answer :-All of these / ¥ 4

10)
Question Stimulus :-

The National Animal of Bangladesh is/ AT BT TI'Q’ITI Uz ?
e Lion/ ﬁlﬁ
* Kangaroo/ $IR=
e Cow/ T
* Bengal Tiger/ STTd TR
Correct Answer :-Bengal Tiger/ ST SI3TR

11)
Question Stimulus :-

Find the odd one out / fawq &1 g1d Sl
* West Bengal/ a3 §7ITdl
¢ Tripura/ ﬁ'g?T
® Nagaland / ATTA S
* Gangtok/ TTel®

Correct Answer :-Gangtok/ TeI®

12)
Question Stimulus :-

Which of the following states is on the border of Arunachal Pradesh? / g 9 I #1991 I REuIEE

ew $t WA 82

® Manipur / Hﬁrg'\r
® Meghalaya / AuTag

e Assam / 3HH



e Bihar /f98R

Correct Answer :-Assam / 3(dH

13)
Question Stimulus :-

How many times has Brazil won the World Cup Football? / STeltd 3 Ppeard &1 fay #v fha-! IR sftar 82
® Two times/ ﬁ CIES
® Three times / GIGECIES
® Fourtimes /R dR}
® Five times / UTd GR
Correct Answer :-Five times / Ui IR
14)

Question Stimulus :-

Find the odd one out / §SII§ ﬁfam IEEGI
* London / Wgd
e Jamaica/ SH®T
® Poland/ tﬁ?lg

® Sudan / S

Correct Answer :-London / ¢+

15)
Question Stimulus :-

The most salty sea in the world is ./ fay @ TEH WRT 9 %I
® Red Sea / dId 9T
® Dead Sea / Jd IR
® Arabian Sea / SRd IR

® Mediterranean Sea / YHY - IR



Correct Answer :-Dead Sea / {d IR

16)
Question Stimulus :-

Who is the oldest Indian to score an ODI hundred? / Wﬁ?\ﬂﬂw CLIEECIL] Wg?ﬁ
Qe #1482

e Anil Kumble/ 3fd $aat

® Sachin Tendulkar/ e ﬂw
® Sunil Gavaskar/ '\ﬂ‘ﬂﬁ RMICEE

® Kapil Dev/ ﬁﬂaﬁ

Correct Answer :-Sunil Gavaskar/ gl TTAEH

17)

Question Stimulus :-

Who won the men's singles title of 2016 Wimbledon / 2016 fdgds & gy Rivrer Iwfy & fpa= sfar?
® Roger federer/ Aok e
® Novak Djokovic/ a® SdIfae
* Rafael Nadal/ IT%hd ASTdl
e Andy Murray/ TSI W

Correct Answer :-Andy Murray/ TSI #Y

18)
Question Stimulus :-

What was the legal name of Legendary Boxer Muhammad Ali? / fere aTRR HeHa 3reft o1 faftre =9 <=
Yr?

® Muhammad Ali / W q 3reit
® Mike Tyson / HIg®P <A

e Cassius Clay / canprc i)
® Lala Ali / @aT 3reft



Correct Answer :-Cassius Clay / canpps i)

19)
Question Stimulus :-

Which one of the following sports has been included by the International Olympic Committee in 2020 Tokyo Olympics?
/ ST Siteife wfffa gRT, 2020 SN Sieified & foe A 7 & fa @a &t wftra fear
T 82

* Sports Climbing / WIdH TSR
e Surfing / |fa

* Softball / ATUE I

o AIIoftheabove/m'\q‘lﬂ

Correct Answer :-All of the above / SURTaT JH

20)
Question Stimulus :-

series has celebrated its Silver Jubilee on April 2016? / mﬁ 30 2016 B T
ToTd Sraedl T4t |

 Hockey India League / sf®t sfear o

e Sultan Azlan Shah Cup / J«™ 3ee 8 U
 Premier Hockey League / WI¥AR gTt o1

e Asian Hockey Championship / TR gTa AfRm—fm

Correct Answer :-Sultan Azlan Shah Cup / &M 3Gd Qg HU

21)
Question Stimulus :-

This famous person led the March on Washington for Jobs and Freedom in 1963 ./

39 Wi safdd A 1963 # Rl 3R waawadr & fore aiflkires & Joa@ &1 Aqe fbar ot
e Abraham Lincoln / 39gH o

* George HW Bush / SiTol U9 S&g q2U
® Martin Luther King Jr. / ATfG qUY fm E([ﬁ'q?



* Richard Nixon / RT3 e
Correct Answer :-Martin Luther King Jr. / ATfé= qIR fo Ej:ﬁ'ﬂ?
22)

Question Stimulus :-

Find the odd one out / fauq &1 g1@ HiA
® Toyota/ erIer
* Nissan/ fA=m=
* Royal Enfield / 310d TTwIcs

e Volvo / dteal
Correct Answer :-Royal Enfield / 379d TTwIcs
23)

Question Stimulus :-

The head office of State Bank of India is in / HRAG '\‘%E' 337 P LTl %
® Bangalore /a"ﬂ?ﬁ?
* Delhi / feeet
* Kolkata / PIIebTdl
® Mumbai / 'ﬂﬂi
Correct Answer :-Mumbai / §a3

24)

Question Stimulus :-

Which of the following States leads in commerce and industry? / 379 ¥ arforsa 3R IR H 3ot ST B
8?2

® Maharashtra / 'FIE'RTg
® Tamil Nadu / AfH@ATg

® Uttar Pradesh / 3% UG¥I

® West Bengal / uf3| dre



Correct Answer :-Maharashtra | HEIRTY

25)
Question Stimulus :-

Which of the following persons got both the Nobel Prize and Bharath Ratna Award? / IGE]
7 A frg aafdt & Tied ™R 3R HRA I PR 1 fd 82

® Mother Teresa / HGX ¢34l

e M.K.Gandhi / TH.P. 7T

e Atal Bihari Vajpayee / 3[C¢l faerdt areud
®* None ofthese/g:lﬁ I ﬁ's‘ T'Iﬁ

Correct Answer :-Mother Teresa / HgY rEg: ||

26)
Question Stimulus :-

Who among the following is Father of Economics? /o 7 o1 = & oFe & wU | ST et %-,?
® Aristotle / 3IR¥&]
® Aryabhatta / G'IT&'J-IET
* Adam Smith / TSH &1y
® None of these / E:Iﬁ I aﬁé qﬁ

Correct Answer :-Adam Smith / TSH &1y

27)

Question Stimulus :-

Who is known as the father of India's space programme?/ YRA T 3iafves STAHH & 99 & ©U | Sas!
ST ST 3?2

® Dr Vikram Sarabhai / ST fa%H H'RT“-IT&F

Dr APJ Abdul Kalam / ST QUlSl 3fegdl HaTH

* Dr. K. Radhakrishnan / ST & JIUTHWH

Dr. Shanti Swarup Bhatnagar / ST ifd WHY YR



Correct Answer :-Dr Vikram Sarabhai / 1 faspH JRTHTS

28)

Question Stimulus :-

Professor Amartya Sen is famous for his contributions in which field? / tﬁ'ﬁ"\q’\f e—rq'ch '\q:l fryg d‘h’ o A
IR & foe ufug &

® Agriculture / w

® Sports / Qqd

® Culture /ﬂ'ﬁ?ﬁf

® Economics /arzfsnw
Correct Answer :-Economics /Gfm
29)

Question Stimulus :-

Who wrote the famous document ‘The Communist Manifesto’ along with Karl Marx? / BT HIpH & 1Y

e Ui qxaTaw g FRgfee ATl forar 82
® Friedrich Engels / PS¥® Tieq
* Alfred Marshall / I@hS ATA
® Lenin /"
e Joseph Stalin / SRW% TIferd

Correct Answer :-Friedrich Engels / SR Tied

30)
Question Stimulus :-

Who is known as “Nightingale of India”? / HRd P Fifedar & TW F fFA T SIar 82
®* Barada Sundari Devi / Wﬁaﬁaiﬂ
® Jhansi Rani Lakshmibai / Qﬁﬁﬁ&ﬁaﬁ
® Maniben Patel / AT ued
* Sarojini Naidu / TRIRFT I



Correct Answer :-Sarojini Naidu / '\‘IﬁﬁFﬁHTEITg{

31)

Question Stimulus :-

The capital of Australia ./ Gﬁm LRI IE] gl
e Sydney / st
 Melbourne / dadH

® Perth / T

e Canberra / ST

Correct Answer :-Canberra / $-eRT

32)
Question Stimulus :-

Who was the first woman Chief Justice of a High Court in India? / HIRd ¥ I |UHTad B 9yd qfger qq
=arardi S A2

® Justice M. Fathima Beevi/ ST WTfcHT el
® Justice R. Banumathi / SIReH 3R ‘l-l'lﬂ'qﬁ

® Justice Leila Seth / wfed otar 99

® None of the above / E:I'el I aﬁi a8l

Correct Answer :-Justice Leila Seth / SIR¢d Wil 9

33)
Question Stimulus :-

How many terms can a president serve in the United States? / Tg& 30 3AR®T H T& gt
fraft IR Frgea 8 9war 82

e 1
e 2
e 3

. 4



Correct Answer :-2

34)
Question Stimulus :-

NITI Aayog has set the highway network target for 2016-17 at / NITI 3{TaHT 3 ITHRT TR ax

2016-17 & forQ a9 o
e 76,372 km / 76,372 fopeit
* 66,302 km / 66,302 foreit
* 86,372 km / 86,372 foreit
* 56,684 km / 56,684 TerHt

Correct Answer :-86,372 km / 86,372 foHt

35)
Question Stimulus :-

Foremost investigative Agency of India is called as / HRd D1 3RToR oY Tolelt B1 el SIldl

g

NIC/ T3S}
cBI / Hdtams

CIA / Hermsu
e DIR / SI3MEAR

Correct Answer :-CBI / Hidt3ms

36)
Question Stimulus :-

Who was the first Governor-General of India?/ HIRd %ue@r Tla:h Wﬁ? ) bd
® Sir John Macpherson / 8 ST Aemdd
® The Earl Cornwallis / 3ret prHared

Warren Hastings / CIEE| Em

® The Lord Minto / @IS fial



Correct Answer :-Warren Hastings / aI%+T 8TRe

37)
Question Stimulus :-

In which year Indus Water Treaty was signed between India and Pakistan? /

YRA 3R ufbwa™ & da Ry o 9 W gwaier g af o gr 32
* 1960
® 1964
* 1948
® 1955

Correct Answer :-1960

38)
Question Stimulus :-

Where is the ISRO headquarters situated? / ISRO T JEITd W‘T'@E[ %?
* Mumbai / 98
® Chennai / aﬁ?{'
® Bangalore / dTER
* Kolkata / PladbTdl

Correct Answer :-Bangalore / STaR

39)
Question Stimulus :-

What is the strike range of Prithvi-1l missile, which was recently successfully test-fired by India? / W-ﬁ?ﬂ'ﬂ'm

3t Afads JraT = 8, oIS 879 8 § Twaaryd® YR gIRT ustevr fomar war?
150 km /5. #Y.
o 250 km / fom. e
350 km /5. #fY.
* 450 km /5.



Correct Answer :-350 km / f&.#t.

40)

Question Stimulus :-

The headquarters of World Anti-Doping Agency is located at ./ fay St A<t Q@'\‘ﬂ Cal
T # fRm@ Bl

® Sydney, Australia / ﬁl@‘ﬁ, Gﬁ'?éj%ﬁﬂ

® Montreal, Canada / m, ﬁa

® Geneva, Switzerland / ﬁlﬁaT, m

® Washington DC, USA / aTfRiiTe-T Stefl, guvie

Correct Answer :-Montreal, Canada /'ﬁﬁ%’qﬂ, ST

41)
Question Stimulus :-

Which country’s space agency has released a rocket motor test video in extreme slow motion? | fre

o F 3fafver e A srafue dhft wfer & ge-ara Wdbe Aex & difsat o1 wie fomar g2
e Japan / SITUTH
e USA/JUHT (3MAf¥®T)
® China/ 94
* India/ WRA

Correct Answer :-USA/ gUHT (@)

42)
Question Stimulus :-

Who has won the 2016 Global Indian Award of the year / 94 2016 T Tad 3fSUT RIPR fobaq SitaT 32
® Shahrukh Khan / RTgd WM
® Aishwarya Rai Bachchan / Q’H'!Tf MY d=I-
® Akshaya Kumar / & $HR

® Kangna Ranaut / 3T IA3d



Correct Answer :-Aishwarya Rai Bachchan /'Q’H'qf I g4

43)
Question Stimulus :-

Tha Sangeeta Ratna Award has been instituted in memory of WA LIGEL YRIPTR

%t wfer & wfE fpar T

 Ustad Rashid Ahmed / SITG XTTRIG 35HG

e Ustad Bismilla Khan / 3%dT¢ fafeers @
® M.S. Subbulakshmi / TH TH gega&Ht

® Pt. Ravishankar / ufeq W

Correct Answer :-Ustad Bismilla Khan / 3%dT¢ fafuears @m=

44)
Question Stimulus :-

Who is the author of the book “Anubandh”? / J¥d® "GF:F.‘EI" » d9@P DI %?
® Chetan Bhagat / a9 W

® Suresh Menon /W G|

® Arundhati Roy / sreefa I

® ElaBhatt/S¢ll HE

Correct Answer :-Ela Bhatt / T¢Il HE

45)
Question Stimulus :-

The tropical cyclone ‘Roanu’ has recently hit in May 2016 which country? / g
& ¥ Swimfeatia apard “A3rg” = 95 2016 ¥ & =1 &t yuIfaa fbar ur?

® Japan/ SITUTH

® China/ iﬂ?

* USA / gENY

® India/ HIRd



Correct Answer :-India/ HIRd

46)
Question Stimulus :-

Which state announced the first ever ‘Water Metro Project’ in the country? /

P 7T 7 3 & g ‘diex Al Uieiae P U190 S|
e Andhra Pradesh / 3¢ =T
* Odisha / 3fS=M
* Kerala/$3d

® Maharashtra / HERI

Correct Answer :-Kerala / ®3d

47)
Question Stimulus :-

Which among the following countries is NOT a member country of SAARC ? / fFafafes 9 @ sF-ar 3w
TP BT WG o e} 82

* Bangladesh / QTSR

* Maldives / ATAGIT

® China / 94

® SriLanka / fid®r
Correct Answer :-China / 919
48)
Question Stimulus :-

CANCELLED
Which day is observed as the World Diabetes day?/ fay wydg faaw sa w=man wrar 82

o 14 september/ 1497 fyavax
® 15t November/ 1 al FawER

e 24N November/24 af awY



e 2gth November/28 al 9w
Correct Answer :-24'" November/24 af qa¥aX
49)

Question Stimulus :-

Actor Salman Khan of Bollywood fame was born in / ‘q"l%ﬂgtc: & m 3f AT HAHTA W hT ST H ﬁ}f
GoIT UT?

« Indore / %R
* Ujjain / 3=
® Rewa/dldr
® Chambal / W
Correct Answer :-Indore / $gR

50)

Question Stimulus :-

What is Betul famous for in Madhya Pradesh? / 'F[‘EII'FI%-‘QT > a_vj\?l' | m T %?
® Manganese / 'aTF-ﬂTrr
® (Coal reserves / HIgAT HeR

® Bauxite / E'T?\‘:IEE
® |ron /?hET

Correct Answer :-Coal reserves / HIGAT HSR

51)
Question Stimulus :-
—-13 __5 -13 —_5-
The additive inverse of =X & g —-———-—————- ./ =x & GRSl yfdead g |
65
e .200
65

o 200



13

o 40
200
e 65

A5
Correct Answer :--200

52)

Question Stimulus :-
-3 -15 -3 —-15

The multiplicative inverse of x ¢ is/ 5x © / & UM UREH ¢ |

45

o 40

45
o _40

8
9

[ ] -
8
g

8

Correct Answer :- °

53)
Question Stimulus :-

When n = -3 the value of n (n2-7) = (choose the right answer and fill up the blank) / SId n=-3 %, n (n2-7)

HTAFA=___ (W8 S I 3R Fraa = wid)
e 48
e -6
e 6
e -48
Correct Answer :-- 6

54)

Question Stimulus :-



There are two circular fields with a radius of 9 ft and 12 ft respectively. A pitis
dug around the centre of each field with a radius of 3 ft. The pits thus dug will

have the same and / & g &
g ot s s 9 e ok 12 Be . Ta® 83 & i T 131 Wier man st A= 3 ge 2. o:
@ T TS B gHE 3R gt

® Circumference / afefdr

® (Circumference and area / qﬁ'ﬁl 3'ﬁ?' ?BW

® Circumference and volume / ufef¥r iR Smraa+

® Circumference, area and volume / m, am 3R 3mgdd
Correct Answer :-Circumference and area / affYr o ?;‘]W
55)

Question Stimulus :-

The diagonals of a parallelogram ABCD intersect at O. A line through O intersect
AB at Xand DCat Y. if AB = 10cm, AD = 9 cm, and OX = 5 cm, then the length
of OY is / THHiR 994 ABCD & fa®uf 0 W ufawde #vd g1
oﬁwmABaﬁxwaﬁ?Dcﬁkuﬁ%‘dm%luﬁAB = 10 ¥}, AD = 9 91}, 3R oOX =5
¥t 2, it oy Y wE @

® 4cm / 4 I+

® 6cm / 6 It

® Scm / 5 I+

® 7cm / 7 I+

Correct Answer :-5cm / 5 JH1

56)
Question Stimulus :-

Y = 30 + 5m. The value for this equation to be plotted when m =0, 2, 4, and 6
is / Y = 30 + 5m. 39 GHIHIU & HH ] Wic HIATE Sl m =
0,2,4,3R638

® 30, 40, 60, 70

® 30, 50, 50, 70

® 30, 40, 50, 60



® 40, 50, 60, 70
Correct Answer :-30, 40, 50, 60
57)
Question Stimulus :-

What is the height side of a cube whose volume is 729 m3? / T& 79 $1 $dE |18
ST 3mgae 729 i3 82

® 13m
® 17m
® 9m

® 10m

Correct Answer :-9m

58)
Question Stimulus :-

What is the height of the cuboid whose base is 13 Xx10 cm and volume is

780cm?3? / T=TH B Sars 1 eIt oIt SR 13 x 10 I+t @ 3R 3maa 780 A3 @2

® 6cm
® 3cm
® 60 cm
® 20cm

Correct Answer -6 cm

59)
Question Stimulus :-

If 35% of a number is 700 , how much would be 50% of the same number / gfe f<lt T &1 35 ufa=Ea 700
2, @ St I BT 50 ufa=E fopa= g

® 2000
® 1000

® 3500



® 1400
Correct Answer :-1000
60)

Question Stimulus :-
A spinning wheel has 10sectors and number 20 is marked in 5 sectors 0 in 2
sectors10 in 2sectors and 100 in the rest.What is the probability of getting a
sector with 20? / T@ IRA ¥ 10 3JGTS & 3R TWAT 20, 5 @S| A fAfFd 81 2 @@ # 0, 2
AGSI H 10 3R F1H & 100 20 F ATES A B GUEAT HT 32

* 1/10

® 2/10

* 1/4

® 5/10
Correct Answer :-5/10
61)
Question Stimulus :-

Which of the following has more energy? / g A @ faw aifte =it 82
 Microwaves / g&a a3l
e X rays / uaq ool
e Radiowaves / fsa a&i
e Light waves / vom=r o
Correct Answer :-X rays / T f&ul
62)

Question Stimulus :-

Pick the INCORRECT statement among those given below :8g of Methane and
16g of Oxygen will / R RRT 7T &y &  Terd $Y7 &1 g1 H31 8 I HAT 3R 16 I
STRite o

® Have same number of atoms / W'Q'[Gﬁ Pt =T A At

® Have same number of molecules / GTUIGﬁ B TWT AT Eﬂ"ﬂ



® Occupy same volume at S.T.P. / Watﬂ A U maaH ETTIT

® Have same number of moles. / TﬁT’H B =T GHTH 'Eﬁ"'ﬁ

Correct Answer :-Have same number of atoms / W'Ujéﬁ &1 T=T AT gt

63)
Question Stimulus :-

The work to be done to stop a car of mass 1200 kg and moving at a speed of 36
km/h is / 1200 f&a soaaE 3R 36 /902 F a/@ J 96 E PR B AP & o HRE ST gRIT

® 60000 N
® 60000)
® 6000)

® 777600)

Correct Answer :-60000 J

64)
Question Stimulus :-

CANCELLED

Figure shows the distance-time graph of two cars A and B moving along a straight road. Which of the following

statementsisWRONG?/EﬂTl'd:fGﬂq?ﬁfffaﬂ:\"AGﬁTBW?&-WWW%GﬁWﬁ‘EﬂW%W
I 38! ¢l Fa § | B A1 $UF Terd 22

[FTETTER=ITNPTTY
L
T
I

e
-
T

1 ] ] 1

1 2 3 4
—* time[minutes)

® Car B starts its journey after car A has started / @R B (Uil I PR A & = A & dIG TR Hl 8

® Car A moves faster than car B/ ®IR A, BIX B 3 Tl aTrf It %



® (Car B overtakes car A / PIR B, BI¥ A &I eﬁa?%ao—{aﬂ%
® Car A moves at a speed 30 km/h / PIX A 3ofpHl b & R W Tt %

Correct Answer :-Car A moves faster than car B/ ®IR A, PR B 3 Srql ﬁvr qJad! %

65)

Question Stimulus :-

Separating funnel is used to separate / m AL 3| YYdp S H T ﬁ'cﬂ %I
e Miscible liquids / faydia ga

® |mmiscible liquids / Srfrgoia ga

® Insoluble solid in solvent / f&@m® & Srg=ite ol

® Soluble solid in solvent / fI@Ta® # ga-1=iid 319
Correct Answer :-Immiscible liquids / Srf¥rgoitg ga
66)

Question Stimulus :-

The water kept in an earthen pot becomes cool during summer due to / T& fig!

& o9 T 3@ g url i & SR ¥ HRUT ST 91 36dT 8
° Diﬂusion/m

® Osmosis / URTHRUT

® Evaporation / dTtq-

® Condensation /W
Correct Answer :-Evaporation / ATq-
67)

Question Stimulus :-

Which is the default mechanism due to which new gene combinations are occurring in nature? / dg fswiee a7

P4 971 g e sRor 1A o9 Gaieq uefa o 8 38 82
® Asexual reproduction/ 3raARre S

® Mutations / @‘\’F{



® Sexual reproduction / GINCACEE|

® Environmental factors / ygiaeoft RS
Correct Answer :-Mutations / TSR
68)

Question Stimulus :-

Which of these is a disease of the bone, caused due to the deficiency of Vitamin D? / ffra #? A o A E’@ @t

drst 8, <t ferfia p 3t o & R Fd g2
® Acromegaly / Srfdwraan
® Osteomalacia / SIFRYFGaAT
® Osteomyelitis / SRS BT USTE
® Qsteoporosis / SReAaRIRN

Correct Answer :-Osteomalacia / 3IfRUTgdr

69)
Question Stimulus :-

Which out of the following factors associated with an ecosystem is Biotic? / rivfRufa®t & & a1y q% fad
q T ¥ SRS G4 3?2

® Quantity and quality of light / UPIRI BT T 3R Toradr
® Temperature variation and availability of water / dTUHT gf¥ad 3R oId Pt Suesudr
® Predation & parasitism / UXHEUT 3R TReitfaEr
® Parasitism & quality of light / WRSifadT 3R YT B Torg=t
Correct Answer :-Predation & parasitism / UXHET 3R qReiar

70)

Question Stimulus :-

Penicillin was first discovered by  afefafem Tdyyw fFas grRT @rsi TI% Ao
® Alexander Fleming / SrATols? TR
® Joseph Lister/ Ww foreer



® Louis Pasteur / qﬁ;r Ura
® Edward Jenner /'Q:"»ﬂ_é SR
Correct Answer :-Alexander Fleming / Qa8 TART
71)
Question Stimulus :-
Average of 2,4,6,8,and 10 is/ 2,4,6,8,31¥ 10 BT 3 &
e 6
.8
e 4
® None / aﬁ's‘ qﬁ

Correct Answer :-6

72)
Question Stimulus :-

Average of 10 natural numbers is 28. Average of first 6 numbers is 30, and
average of last 5 is 26. What is the 6t" number?/ 10 urpfa® TEmai &1 3iFa 28 21

ugdt 6 YIS FT ofied 30 g, 3R RaH 5 FT 3144 26 71 TS HEM FT 72
e 12
e 25
e 30
e 15

Correct Answer :-30

73)

Question Stimulus :-

Five years ago, the total of the ages of a father and his son was 40 years, the ratio of their present ages is 4:1.

What is the present age of the father?/qﬁwqga, LG aﬁwmaﬁﬁ GITﬁasTT-ﬁ"T 40 ¢ T, ek
AT 3T BT SUTd 4:1 81 g4 § T o1 3myg fopait 82

® 35 years/ 35 CL



® 40 years/ 40 CL
® 45 years/ 45 ay
® 50 years/ 50 ay

Correct Answer :-40 years/ 40 99

74)
Question Stimulus :-
Fifteen years ago, Sundar was half of Pradeep in age. If the ratio of their
present ages is 4 : 5, what will be the total of their present ages?/ Usg 9Id Ugd,
X 1 g Uty FY g ot el <ft1 Al adur & IS9P g FT U 4 : 5 8, IAP! AU AT BT ANT
o=t g2

® 35years/35TY

® 55 years/ 55 ay

® 65 years/ 65 ay

® 45 years/ 4599

Correct Answer :-45 years/ 45 a4
75)
Question Stimulus :-
13/17™ of 51 is 51 / BT 13/17Tﬁ' YT &:
e 39
e 49
e 31
e 51
Correct Answer :-39

76)
Question Stimulus :-

Five Thirteenth of 260 how much less than Eight Eleventh of 330? 260 / PT UTd dvgdl 330 ,% 3{T6 WRed I
e w1 32



e 120
e 100
e 125
e 140
Correct Answer :-140

77)
Question Stimulus :-

What is the next expression in the series? / 4@ # 3rTelt siftraafady H19 A gifiz
abbacc, cabbac, ccabba,

® cacbba

® abcabc

® accabb

® baccab
Correct Answer :-accabb
78)

Question Stimulus :-

128.57% of 84 + 262.5% of 48 + 22.22% of 27 =? / 84 BT 128.57% + 48 BT 262.5% + 27 BT 22.22% = ?
e 210
e 220
e 230
e 240
Correct Answer :-240

79)
Question Stimulus :-

13% of 300 is 300 / BT 13%78:

e 39



e 42

e 49

e 50
Correct Answer :-39
80)

Question Stimulus :-

In covering a certain distance, the speeds of A and B are in the ratio of 3 : 4. If A takes 30 min less than B to
reach the destination, the time taken by B to reach the destination will be: / Wﬁfﬁ’dgﬁﬂﬁ TAHFAT A 3R
B &1 TIfel T 3JUTd 3: 4 81 4fe ey a@ g & fw A, B A 30 e &0 Aq1 8 ot fiday a@ uge_ & fore B
&I | | fa- wwg @m?

e 1hw / 14al

. hr / der

® 2hr/2%9el
LIPY

o 2hr/ 2 gt

Correct Answer :-2 hr /2 9eT

81)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / g IR di & & &9 41 9 RA A yad & UHeH A &1 82

Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106



(i)

(i)

Adventure Schools

E-Mail: adventure@worldkayak.com
315 7P Street, S.E.

Washington, DC 20003

(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.
Washington, DC 20003
(202) 546-9211

(800) 51-KAYAK

Fax: (202) 546-3106

(iii) Adventure Schools

E-Mail: adventure@wordkayak.com

315 7" Street, S.E.
Washington, DC 2003
(202) 546-9211
(800) 51-KAYAK

Fax: (202) 546-3106

(iv) Adventure Schools

E-Mail: adventure@worldkayak.com

315 7th Street, S.E.

Washington, DC 20003



(202) 546-9211
(800) 51-KAYAK

Fax: (202) 546-3106

* v
Correct Answer :-iii
82)
Question Stimulus :-

CANCELLED

The series given below contains a sequence of alphabets and numbers. Identify

the incorrect combination: / R & T saar # 3i&RY 3R J@e BT HH JWfIde | Tad GaH

REELRLE
i. b93bd4ss93fs6b ii. b63bd4ss93gs6b
ili. b93bd4ss93gs6b iv. b93bd4ss93gs6b
° i
® i
® ii
® jv

Correct Answer :-i

83)
Question Stimulus :-

By selling a scooter for Rs.9200, a man gains 15% .Find the cost price of the scooter? / Y IThHc P 9200 T
T 9TF W TP AR DI 15 % BT A1 U BT 81 TpeX HT ANd Jod J1d B

e Rs 7600 / 93 7600



® Rs 8000 / U 8000
® Rs 9200 / 9T 9200

® None /Gﬁ'stqﬁ
Correct Answer :-Rs 8000 / U3 8000
84)
Question Stimulus :-

Find the next term in the series 4,9,16,25, ./ dar § S[TAT UG Id
#ifow 4,9,16,25,_ .

e 32

e 42

e 55

e 36
Correct Answer :-36
85)
Question Stimulus :-

Find the next term in the series 3,5,9,17,33, ./ SRGeT § 3ATAT UG JTd PIOIT 3,5,9,17,33,
° 49
° 48
° 63
° 65
Correct Answer :-65
86)

Question Stimulus :-

Question is based on an encryption system in which: / U¥ THTSPRIT YUme! 1R i &
fora:

(1) ‘La Pit Ta’ means ‘Mango is sweet’ / ‘'La Pit Ta’ &I Hddd ? *‘Mango is sweet’

(2) *‘Na Sa Pit’ means ‘Mango and Banana’ / ‘Na Sa Pit’ WW% ‘Mango and Banana’



(3) '‘Ba Ta Tik’ means ‘Boy is Wise’ / ‘Ba Ta Tik’ &1 Hddd % ‘Boy is Wise'’

What is the code for ‘Banana’? / ‘Banana’ & o0 &1 9IS 82
® Either ‘Na’ or ‘Tik’ / ‘Na’ 3{dT ‘Tik’
® Either ‘Ba’ or ‘Sa’ / ‘Ba’ 3[YdI ‘Sa’
® Either ‘Na’ or ‘Sa’ / ‘Na’ 3[YdT ‘Sa’
® Either ‘Ba’ or ‘Tik’ / ‘Ba’ 3IYdT ‘Tik’
Correct Answer :-Either ‘Na’ or ‘Sa’ / ‘Na’ 3(YdT ‘sa’

87)

Question Stimulus :-

In the sequence shown below, which figure comes next? /i femmd ma wa o SrTett \?vl'ﬁ?ﬁf Akl ghifte

<oF |




-

Correct Answer :-

88)
Question Stimulus :-

Take a look at the below statements: / CiCkcainiieg Th Ao} siferd:

1. H's son is G's grandson / H BT AT G Wtﬁ?ﬂ%

2.His F's brother / H, F®THE §

Which of the above 2 statements are necessary and sufficient to answer the below

question: / W 2 FYFI A F B I 9 UY $T IR ¢4 & oY mawgs 3R Ui g:

If H is the brother of B, how is F related to G? / Uf¢ H, B &T 4TS &, 9l F, G ¥ $4 Hdfyd 82
LA |

e 2

land2/13R2

® Additional information required to answer the question / WY ®T 3t R kg ﬁﬂ! Srfafvad SHaRT 3t
TIIHAT §

Correct Answer :-1and2/1 3R 2
89)
Question Stimulus :-

M + N means M is the husband of N / M + N ®THdad @ M, N $1Ufd &

M - N means M is the father of N / M - N STHdad @ M, N & fiar &



M ! N means M is the brother of N / M! N STHGAS 8 M, N &T HTS §
M X N means M is the sister of N/ M X N #THdad ¢ M, N ®1 984 @
M = N means M is the wifeof N / M = N ®THdad @ M, N 91 Ul 8

M @ N means M is the mother of N/ M@ N $THdaAd @ M, N &1 HT1dT &

A =B -C! D @ E X F then which of the following must be true? / A =B -C!D @ E X Fal g #

| B /1 HE G ARY?
® Fisgrandson of B /F, B & UldT §

® Eisgranddaughter of A /E, A | tn?ﬂ %
L E&Faresisters/EGﬁTFaﬁﬁ%

® Aisgrandfather of E/ A, E & alal %
Correct Answer :-Eis granddaughter of A /E, A @1 gt %
90)

Question Stimulus :-

Which of the following is the mirror image of the word BANDANA? / ffad g QMo BANDANA HT a'thT yfafaw
P 9T 82

. AVAQVAG
. AVIAVIAE

AVAQAL

o AVIAUOAE

AMAQUAE

Correct Answer :-

91)
Question Stimulus :-

A + B means A is fatherof B/ A + BHIHdAS ¢ A, B & fuar &
A -B means A is motherof B/ A-B HTHAAd g A, B 1 U1 &

A =B means A is husband of B/ A =B ®THdAd ¢ A, B #1Ufd &



A x B means A is sister of B/ AxB ®THdAd ¢ A, BB 989 &

M+N-0=T x P then which of the following mustbetrue? / M+ N-0=T x P dt A
# P A 9 g T1RU?

® Pisdaughter-in-lawof M. / P, M B! CH %I

® N is mother-in-law of P. / N, P B 9 %I

® Qisgrandsonof M. / O, M W‘fl’rﬂ%l

® Tisgranddaughterof M. / T, M CARUIG| %I
Correct Answer :-0is grandson of M. / 0, M &T Uidl gl
92)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / 9 7y ¥, U8Q Vg $T g U & 1Y [FA UPR T $1g WY §1 9l TR g FT 9 I8 &
Y I UHR PT AGY AT T1RY, o AT e FRIT:

Atom : Element :: Cell : ? / IRHIV[: AT :: O : ?
L Live/\_rﬁ'ﬁ?f
® Tissue / HdP
® Center / Jx
® Animal / SITHdR
Correct Answer :-Tissue / $dd

93)
Question Stimulus :-

In how many ways can the letters of the word ‘APPLE’ be arranged to form a five letter word? / ‘APPLE’ Req

& 3R B fpa- YHR § HafRUT HR THd ¢ o 6 T uTa 3igRi & <eg o1 FHmtor fvar s 9
e 50
e 48
e 60
e 120



Correct Answer :-60

94)

Question Stimulus :-

Nitin travels 12 km in the southward direction and then travels 5 km to the right and then travels 15 km towards
the right and finally travels 5 km towards the east. How far is he from the starting place? / fafa= a'f?;I'UT fe=m |

12 ot g &Rar € 3R fhr grft 3R 5 fopeft aran #=ar § 3k fbr grft 3k 15 for T ar=m ®var @
3R 3id ¥ T Bt SR 5 fpeft arn wvar 71 98 vy fag A fpait v 82

e 285 km / 285 fotit
e 11.5km / 11.5 fopedt
e 3km / 3ot
e 5km / 5ot
Correct Answer :-3 km / 3 fHt

95)

Question Stimulus :-

Tanmay started from his house and went 2 km straight. He then turned towards his right and went 1 km. He
turned again towards his right and went 1 km. If Tanmay is north-west from his house, then in which direction

did he go in the beginning? / T7IT 7 3T TR ¥ Y= forar 3R 2 fel dter mar| fer a8 oot orfY ok
T 3T 1 et a1 98 fbr sruet erft 8k geT 8k 1 fomeft wam| afe o o R ¥ SwR-ufyy fa=m
# @, Y 98 Yeema | fpg famm & man

* North-East / STR-IXE

® South / &f&ror

* South-East / GI&UI-RT

* West / Uf3®
Correct Answer :-West / Uf3d
96)
Question Stimulus :-

Select the option, which is the logical equivalent of the given statement:/ dg fawe ﬂﬁ'ﬁ\‘:ﬁ
b 3t =R ¥ TR R T FY= & 9 #:

If Ram plays cricket, then the team will win / gfe I fhde @FIT-H%, af v St
® If Ram doesn’t play cricket, then the team will not win /?Tﬁ{ I fpdbe 7‘|€f QddT %, ar = T'Iﬁ Shraht



® The team won. Ram played the cricket / HEESIG] 1Tg'| I 1 fopdbe @er
® [f the team lost, then Ram didn’t play the cricket / gfe &9 8 Tl_&:, a1 3w A fpdbe &l Qar
® If Ram doesn’t play cricket, then the team will win /ﬂ'ﬁ IM fopde :r{ﬂ JedT %, @ S Shah

Correct Answer :-If the team lost, then Ram didn’t play the cricket / gfe & TR ‘Tg, I A fpdbe
T8I @

97)

Question Stimulus :-

Select the option, which is the logical equivalent of the given statement: / 98 fd®e gHa &t
a& # =T® A = RY T FYT F 9HE B

If Tanvi checks the reports, then there will not be any mistake. / gfe adt Rulel # Sig et %,

@ PIg off Tt 8T ghh

® [If Tanvi doesn’t checks the reports, then there will not be any mistake. / gfe a=at frad 3@ T'I'[E'} Pl %,
o FF it Tadt T8 Bt

o If Tanvi doesn’t checks the reports, then there will be mistakes. /qﬁ T‘I_'Eﬂ ﬁ'lﬂ% % T-I—Eﬁ Eb_{?ﬁ %, T‘ﬁ
TTafaar gin |
® If there is no mistake, then Tanvi hadn’t checked the reports. /uﬁ aﬁé LSGI qﬁ %, o=t A fard
AP 5 B g
® If there is mistake, then Tanvi hadn’t checked the reports. / EI'% aﬁ'sf NG %, =4t A fuid 9@ T'Iﬁ
Cald
Correct Answer :-If there is mistake, then Tanvi hadn’t checked the reports. /'CI'% ﬁ'& Tt %, GUGE: ||
A e 39w 78 & €
98)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a8 &Y= ga it
33 T Hy1 vd et & IR | 981 §:

Statements: / ®YH:

All Indians are illiterate. / ¥ WRdR 3FUg &
Ramesh is an Indian. / RE= | Uh ‘HR?ﬂH%I
Conclusions: / fAwsd:

I. Some illiterate people are Indians / I. $ 3FU¢ AN YR 3



II. Ramesh is illiterate. / II. R b | 3 4e %I

® Only conclusion | follows /aﬁﬁ ﬁﬁﬂf | Frpedan %

® Only conclusion Il follows /aﬁﬁ e n feear %

e Bothland Il follow / I 1 3R 1 fward §

e Either I or Il follows / TT ¥ 1 AT {6 1l FAwadr %
Correct Answer :-Both I and Il follow / &1 | 3% 11 fr@ad &
99)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 &Y+ gﬁ'& St
38 T Hy=1 vd Frewut & IR | |8 §:

Statements: / ®Y:
All hills are dangerous. / 4! UgTS WaRAT® &1

Himalaya is not a hill / fRaTeT t& UgTs 78 @

Conclusions: / fAwsd:
I. Anything which is dangerous is a hill. / I. $9 ft &t @aRATE %, Tdh QEE%I

I1I. Himalaya is not dangerous. / II. %umw qﬁ%l
® Only conclusion | follows /W forem Freadan %
® Only conclusion Il follows / pad e || radr %
e Either I or Il follows / TT ¥ 1 AT {63 1l FAHadar %
® Neither I nor Il follows / 1 9T 1l aﬁ'é ot T'Iﬁ ﬁlﬁﬁﬂ %

Correct Answer :-Neither I nor Il follows / 1 aT 1l 15 H T8 fpadar 8

100)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§

Sy I o e T HyAT ud el & IR § 98 &

Statements: / BY:



Some interviews are exams / $9 Wuﬂ&rrq %
All exams are tests / 93 T3¢ ¢ &

Conclusions: / fAwpd:
I.All tests are exams / I. 91 33 udieny &

II.Some tests are interviews / II. $& & 53] &

® Only conclusion | follows /W ﬁrwcf | ﬁm %

® Only conclusion Il follows / pad frsey 1| freedr %

e Both conclusion I and Il follows / fT&Y 1 3% 11 atﬁ fread %

® None of the conclusion I and Il follows / fFIeFd 1 3R 1 & @ aﬁ'é ot T-Iﬁ A %
Correct Answer :-Only conclusion Il follows / Fad fospt 1| frpedar &



